
https://www.passapply.com/jn0-333.html
2024 Latest passapply JN0-333 PDF and VCE dumps Download

 

 

 

JN0-333Q&As

Security, Specialist (JNCIS-SEC)

Pass Juniper JN0-333 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/jn0-333.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

 

 

JN0-333 PDF Dumps | JN0-333 Practice Test | JN0-333 Study Guide                                1 / 4

https://www.passapply.com/jn0-333.html
https://www.passapply.com/jn0-333.html
https://www.passapply.com/jn0-333.html


https://www.passapply.com/jn0-333.html
2024 Latest passapply JN0-333 PDF and VCE dumps Download

QUESTION 1

In a chassis cluster, which two characteristics are true regarding reth interfaces? (Choose two.) 

A. A reth interface inherits its failover properties from a redundancy group. 

B. Reth interfaces must be the same type of interface. 

C. Reth interfaces must be in the same slots on each node. 

D. A reth interface goes down if one of its child interfaces become unavailable. 

Correct Answer: AB 

 

QUESTION 2

What are two supported hypervisors for hosting a vSRX? (Choose two.) 

A. VMware ESXi 

B. Solaris Zones 

C. KVM 

D. Docker 

Correct Answer: AC 

 

QUESTION 3

Click the Exhibit button. 
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You notice that your SRX Series device is not blocking HTTP traffic as expected. Referring to the exhibit, what should
you do to solve the problem? 

A. Commit the configuration. 

B. Reboot the SRX Series device. 

C. Configure the SRX Series device to operate in packet-based mode. 

D. Move the deny-http policy to the bottom of the policy list. 

Correct Answer: B 
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QUESTION 4

Which UDP port is used in Ipsec tunneling when NAT-T is in use? 

A. 50 

B. 4500 

C. 500 

D. 51 

Correct Answer: B 

 

QUESTION 5

Your network includes IPsec tunnels. One IPsec tunnel transits an SRX Series device with NAT configured. You must
ensure that the IPsec tunnels function properly. 

Which statement is correct in this scenario? 

A. Persistent NAT should be enabled. 

B. NAT-T should be enabled. 

C. Destination NAT should be configured. 

D. A source address pool should be configured. 

Correct Answer: B 
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